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Sir Dr. D. MacKay,

University of Cambridge
(22 April 1967 — 14 April 2016)
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(October 6, 1866 — July 22, 1932)

(October 6, 1866 —

July 22, 1932)

first transmission of
speech by radio
(1900), and the first
two-way
radiotelegraphic
communication across
the Atlantic Ocean
(19086)

"Hu ogHa opranmMsaums, 3aHUMAaIOLWAACs Kakon-nubo KOHKpeTHOM obnacTeio
AeATeNnbHOCTHU, HUKOraa He usobpertaeT kakne-nnMbo BaxHbIe paapaboTku B aTon
obnactv unun He BHeapseT kakne-nubo BaxHbie pa3spaboTtku B aToi o6nacru 4o Tex nop,
Moka oHa He OyaeT BbiHyXAeHa cAenarth 3710 U3-3a BHeLHen KOHKypeHuuun.." Oxford

Battle of Britain S
(3 month 3 weeks)
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University Press. The Quarterly Journal of Economics , Feb., 1926, p. 262.

Radar played a major role in the Battle of England

H. Nyquist
TR,

(81:1888-1970)

raiph Hartley H

—w W=Klogm

Where W is the speed of transmission of intelligence,
m is the number of current values,
and, K is a constant.

nlog s

log s™.
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